nK%mmE@m@ﬂ

68 )y ey R L

EERER

© AR IIHFREL 7 &1SO 60224144 -
© AR T HIRR L T BRARE o

o {{i{]Jit /)25Mpa -

© T £ faf g i S A S A L

o Sii'E ¢ RIS HEMERGT -

HEZF

- 2

7% UNIMEC

FLUID-Technik

¢ 50~ ¢ 250

7%

WEEL S (mm) 050 | ¢63 | ¢80 | 100 ] ¢125] ¢160 ] 200 [ 4250
T2 (mm) ITRK R KB

LAERER LY 2 AR R

L& M E T e

1 F B ) i@ (MPa) 25(250Kgf/cm’)

M) (MPa) 35(350Kgf/cm’)

R L EE (C) -10~+60

GNEA
A 7

il

’I(‘)O C‘G - Cl;

SR | | EEIME B A BEUE 1758 i
AAE 50— ¢ 50mm REAIHEE 50—50mm _
BB A 63—¢63mm | | HEZiEeEE | [100—100mm '-‘IHI-IH FA
80—¢80mm | | B:iEE | [150—150mm
100— ¢ 100mm N4 & 175—175mm r
DKB| | 125 4 125mm 200—200mm ""HI-IE FB
160— ¢ 160mm 250—250mm
200— ¢ 200mm 300—300mm
250— ¢ 250mm 350—350mm “@:U] LA
400-400mm
450—450mm| |
500—500mm |:HI-IE I CG
| [§Fl |tc
ai [
SEFRFEN BB
X% =1 B T [ | Wi ow
frapm | NP8 | BAEEEE | yrgp | qrapm
1 NBR O O x O O
2 PU O X X A A
3 VITON O X @) O O

fiidk + ORFFHER XA

A RS

3-10.1



¢ 50~ ¢ 250

I(%%ﬂﬁ’ﬁ]ﬁﬁ [ 764 yHy R 5 T /% UNIMEC

SHERST

Fidl]
. FA = nDKB IFA
AM K P+312
o T
25 225 o KX FF_, F,
Il EE EE EC
| i it
‘ ‘ > E
alo w
“NHE y
| [ RP
Z1+1718 H M
ZJ+1778 C—
YR HCK
- |_AE B2 E
&
ke KX T MV KX T MM AM| C D |([DB|DD| E EE F FF | K KK P W |2z21|2J TH
¢ 50 30 36 27 32 36 63 | 155 [ 13.5| 132 98 | G1/2 25 4 80 (M27x2.0 | 137 | 22 | 218 | 240
¢ 63 36 | 45 32| 40| 45 75| 175 | 13.5| 150 | 115 | G 3/4 28 4 87 [M33x2.0 | 159 | 25 | 245 | 270 DO
¢80 46 56 41 50 56 90 | 210 | 17.5| 180 | 135 | G 3/4 32 4 104 |M42x2.0 | 171 | 28 | 272 | 300
$ 100 62 70 50 63 63 | 110 | 250 | 22 212 | 165 | G 1 36 5 113 [M48x%x2.0 | 192 | 32 | 303 | 335 DX
$ 125 75 90 65 80 85| 132 | 290 | 22 250 | 205 | G1 40 5 131 |M64x3.0 | 229 | 36 | 354 | 390 DW
¢ 160 95 [ 110 85 [ 100 95 | 160 | 360 | 26 315|255 [ G1-1/4| 45 5 185 |M80x3.0 | 235 | 40 | 427 | 467
200 | 120 | 140 | 110 | 125 | 112 | 200 | 440 | 33 385|306 | G1-1/4| 56 5 220 |M100x3.0| 278 | 45 | 505 | 550 DM
$250 | 160 | 180 | 140 | 160 | 125 | 250 | 540 | 39 475|395 [ G1-1/2| 63 8 253 |M125%x4.0| 332 | 50 | 602 | 652
DH
Y
. FB = nDKB IFB
AM K P+{3i2 DK
KX F
\ EE EE
a1 1
w oo
il §z o =
[
20451
MR ~T R
= |_ARE B
FRES KX T MMTKX | Mim AM| C D ([DB|DD| E EE F K KK P |2J
¢ 50 30 36 27 32 36 63 | 155 | 13.5| 132 98 G1/2 25 80 | M27x2.0 137 | 265
¢ 63 36 45 32 40 45 75| 175 [ 13.5| 150 | 115 G 3/4 28 87 M33x 2.0 159 | 298
¢ 80 46 56 41 50 56 90 | 210 | 17.5| 180 | 135 G 3/4 32 | 104 M42x2.0 171 | 332
¢ 100 62 70 50 63 63 | 110 | 250 | 22 212 | 165 G1 36 113 M48x2.0 192 | 371
125 75 90 65 80 85 | 132 | 290 | 22 250 | 205 G1 40 | 131 M64 x 3.0 229 | 430
¢ 160 95| 110 85 | 100 95 | 160 | 360 | 26 315 | 255 G1-1/4 45 | 185 | M80x3.0 235 | 505
¢ 200 120 | 140 | 110 | 125 | 112 | 200 | 440 | 33 385 | 306 G1-1/4 56 | 220 M100x 3.0 278 | 596
¢ 250 160 | 180 | 140 | 160 | 125 | 250 | 540 | 39 475 | 395 G1-1/2 63 | 253 M125x 4.0 332 | 703

3-10.2



K%mmﬁﬁm@ﬂ

SME RS

s
“

UNIMEC

FLUID-Technik
¢ 50~ ¢ 250

@ LA B - {l e flsa il

BDKB LA

AM K P+1712
KX EE EE
g i
4-$SB "
e g 4T
™ Tl = g ‘ T .
el e el L
| |
sP ‘ DA DA
D XS SS+IIE |
ZJ+718
SHERT &R LAREE B 72 B 3 1SOREE -
AR Rig B | m| b |paloB|oc| E| EE | H | K KK P [SB|SP|SS|XS|2zJ
= [kKx[MM[ KX MM
550 | 30| 36| 27| 32| 36|160| 30| 32]109 | 98|G 172 60| 80| M27x2.0 | 137 |11 | 135| 73|12 | 240
63 | 36| 45| 32| 40| 45| 185| 35| 371255 115|G3/4 68| 87 | M33x2.0 | 159 [13.5] 155 | 82 [125.5] 270
80 | 46| 56| 41| 50| 56 |225| 45| 42[147.5[135[G 3/ 80 | 104 | M42x2.0 | 171 [17.5[ 185 80 [147.5/ 300
$100 | 62| 70| 50| 63| 63|265| 55| 52|177.5/165|G1 95 | 113 | M48x2.0 | 192 [22 | 220 77 [170.5 335
125 | 75| 90| 65| 80| 85|325| 60| 62 [217.5/205] G 1 115 | 131 | M64x 3.0 | 229 |26 | 270 ] 109 [191 | 390
$160 | 95| 110 | 85100 | 95|405| 75| 77 [272.5] 255 | G 1-1/4| 145 | 185 | MB0x3.0 | 235 |33 | 340 | 90 [252.5) 467
$200 | 120 [ 140 [ 110 | 125 112480 90| 87 [323 [ 306 [ G 1-1/4| 170 [ 220 | M100x3.0 | 278 [40 | 405 | 115 [296 | 550
5250 | 160 | 180 | 140 | 160 | 125 | 620 | 100 | 112 [412.5] 395 | G 1 - 1/2 | 215 | 253 | M125x4.0 | 332 |52 | 520 | 140 [348 | 652
A - 7
@ TC - HilifEH) B¥oc ore
AM K P+{512
¢TD KX B
R \ EE EE
—
[ /
7N i
M) =l s 4 Ed 7 H
5 =<
[
=]
TE ZC+1121582
ZJ+T18
,
SRR
e AR BE _|m| E EE K KK P |TB|TD|TE|TL |TM [UM|ZC | 2
KX [MM [ KX [ MM
550 | 30| 36| 27| 32| 36| 98| G12 80 | M27x2.0 | 137 | 38| 32| 105 | 25| 112 | 162 |157.5 240
63 | 36| 45| 32| 40| 45| 15| Ga/a 87 | M33x2.0 | 159 | 48| 40| 120 | 32 | 125 | 189 |[175 | 270
80 | 46| 56| 41| 50| 56| 135| Ga/a 104 | M42x20 | 171 ] 58| 50 | 140 | 40 | 150 | 230 [198 | 300
100 | 62| 70| 50| 63| 63[165] G1 113 | M48x20 | 192 73| 63 [ 170 | 50 | 180 | 280 [220 | 335
125 | 75| 90| 65| 80| 85|205]| G1 131 | MB4x3.0 | 229| 88| 80| 210 | 63 | 224 | 350 |260 | 390
5160 | 95| 110 | 85| 100 | 95|255| G1-1/4 | 185 | M80x3.0 | 235 | 108 | 100 | 265 | 80 | 280 | 440 [305 | 467
$200 | 120 [ 140 | 110 | 125 | 112 | 306 | G1-1/4 | 220 | M100x3.0 | 278 | 133 | 125 | 320 | 100 | 335 | 535 360 | 550
$250 | 160 | 180 | 140 | 160 [ 125 [ 395 | G1-1/2 | 253 | M125x4.0 | 332 | 180 | 160 | 410 | 125 | 425 | 675 [420 | 652

3-10.3



K%%%E@%Eﬂ

AN

RF

7% UNIMEC

FLUID-Technik
¢ 50~ ¢ 250

@ CG B - Rz B H MRIE &

3o oo

3-10.4

KX K . P+{7i2 ,
EE EE
/7 R TC
0 | - | h TS
=
w !
HE o 5
T T} ; i
i
v HC
AM ZJ+1752 W HC M
R~ |HCK
FAEEY L BiE AM| B |[CD| E EE K KK P R U \") W | zJ
KX | MM | KX | MM TH
¢ 50 30 36 27 32 36 32 32 98 | G1/2 80 M27 x2.0 137 | 35 27 65 | 38 305
¢ 63 36 45 32 40 45 40 40 | 115 | G3/4 87 M33x%x2.0 159 | 50 B85 69 | 50 348 DO
¢80 46 56 41 50 56 50 50 | 135 | G3/4 104 M42x2.0 171 | 61.5| 40 88 | 61.5| 395
» 100 62 70 50 63 63 63 63165 | G1 113 M48%x2.0 192 | 66 52 | 107 | 71 442 DX
»125 75 90 65 80 85 80 80205 | G1 131 M64 x 3.0 229 | 90 60 | 130 | 90 520 DW
¢ 160 95 | 110 85 | 100 95| 100 | 100 | 255 | G1-1/4 | 185 M80 % 3.0 235 |125 70 | 150 |125 617
200 | 120 | 140 | 110 [ 125 | 112 | 125 | 125 | 306 | G 1-1/4 | 220 M100x 3.0 | 278 |145 | 102 | 206 |145 | 756 DM
$250 | 160 | 180 | 140 [ 160 | 125 | 160 | 160 [ 395 | G 1-1/2 | 253 M125x4.0 | 332 [178 | 130 | 251 [178 | 903
Lpny
HEC N~ DH
@ Rk c DK
D B
G #l | ‘
.
7\ i 5
K J <t N
<
-
A A
' | =
ZJ
Z
1@
~ &) B}
KK
A
NANDES
AR iE | A [AM| B | Cc |[cD| D | H | KK L M BT n
G-M27 x 2.0S ¢ 50 38 37 27 32 32 70 80 [M27x2.0 118 M8 x 20 GM02720S
G-M33x2.0S $63 47 46 32 40 40 89 97 [M33x2.0 1455 | M8x 25 GMO03320S
G-M42 x2.0S8 ¢80 58 57 40 50 50 108 120 |M42x2.0 179 M10x 30 GM04220S
G-M48 x 2.0S ¢ 100 70 64 52 63 63 132 140 [M48x2.0 211 M12x40 | GM04820S
G-M64 % 3.0S ¢ 125 90 86 66 80 80 168 180 |M64x3.0 270 M16x50 | GM06430S
G-M80 x 3.0S ¢ 160 110 96 84 100 100 210 210 |M80x3.0 322 M20x60 | GM08030S
G-M100 % 3.0S ¢ 200 135 106 103 125 125 264 260 |M100x3.0| 405 M20x 70 GM10030S
G-M125 x 4.0S ¢ 250 165 126 130 160 160 326 310 |M125x4.0| 488 M24 x 80 GM12540S



¢ 50~ ¢ 250

I(%%ﬂiﬂﬁﬁ [ 764 yHy R 5 T "4 UNIMEC

G HAYAES

BA7 KN
mE | e SEEE P MPe)
mm mm mm’
(| (m) (mm) 5 10 15 17 19 21 23 25
F1[ 1963 9.8 19.6 29.4 33.3 37.2 41.2 45.1 49.1
#50 |$32 1436 |5 1159] 946 [ 58 [ 47 [11.6] 9.5 [17.4]142[19.7[161[ 22 [ 18 [243[19.9[26.6[21.8] 28.9[23.7
63 |oa0 | a5 [EL_3110 15.5 31.1 46.6 52.9 59.2 65.4 71.6 77.9
@ 4 ¢ F2[ 1860[1526 | 9.3]7.6 [18.6[15.2[27.9[22.9 [ 31.6]25.9] 35.3]29 [39.1[32 [42.7]351 [46.5]38.1
80 650 | 456 IFL—5024 25.1 50.2 75.3 85.4 95.4 105.5 115.5 125.6
4 4 4 F2[ 3061]2562 [ 15.3]12.8 | 30.6] 25.6 | 45.9[38.4 | 52[43.5 | 58.1[48.6 | 64.2[53.8 [ 70.4]58.9 [ 76.5] 64.0
100l 563 470 [ELL_7850 39.2 78.5 17.7 133.4 149.1 164.8 180.5 196.2
@ 4 ¢ F2[ 4734]4003 | 23.6]20.0 [ 47.3] 40 71J60 [80.4][68 [89.9]76 [99.4]84 [108.8] 92 [118.3[ 100
125|580 490 [ELL_12266 61.3 122.6 184 208.5 233 257.5 282.1 306.6
4 4 4 F2[ 7242]5907 [ 36.2]29.5 | 72.4]59.1 [108.6] 88.6 [123.1]100.4137.6 [ 112.9152.1[124 [166.5]135.8 181 [147.6
160! 5 100! & 110 L2009 100.5 201 301.4 341.6 381.8 422 462.2 502.4
@ 4 ¢ F2[12246[10597] 61.2]52.9 [122.4] 106 [183.6[158.9(208.1]180.1[232.6]201.3[257.1[222.5[281.6] 243.7[306.1]264.9)
F1[ 31400 157.0 314 471 533.8 596.6 659.4 7222 785
#200| ¢ 125| ¢ 14015 19134[16014] 95.6[80.0 [191.3]160.1] 287]240.2[325.2]272.2[363.5[304.2]401.8] 336.2] 440]368.3478.3[400.3
250|160/  180HELL_42068 245.3 490.6 735.9 834.1 932.2 1030.3 1128.4 1226.5
4 4 4 F2[28967[23629]144.8]118.1]286.6] 236.3[434.5] 354.4[492.4] 401.6]550.3] 448.9]608.3] 496.2666.2] 543.4[724.1[590.7]

THIBREL H 773+ 575 2K

FMELET)  (N)
- PEEEN  (Mpa)
Fpb 2 F=Px A —f ABEE  (mm)

B (N)

3-10.5



